Undermount Wheel Lock




Undermount Wheel Lock

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 1026096-NLA | NLA - Clamp, Wheel Lock, Threaded (1") 1 1
2 1026097-NLA | NLA - Clamp, Wheel Lock, Non-Threaded (1") 1 1
3 1027268 Screw, Allen Head (1/4-20 x 1") 1 2
4 1025765 Locknut (1/4-28) 1 2
5 1037120-NLA | NLA - Bracket, Mounting, Black - Right 1 1
6 1037121-NLA | NLA - Bracket, Mounting, Black - Left 1 1
7 1036519-NLA | NLA - Spring, Torsion - Right 1 2
7 1036520-NLA | NLA - Spring, Torsion - Left 1 1
8 1005844-NLA | NLA - Bushing 1 2
9 1055307-NLA | NLA - Screw, Allen Button Head (1/4-28 x 1") 1 2
10 1025188-NLA | NLA - Link, Wheel Lock, Black 1 1
11 1024962-NLA | NLA - Handle, Wheel Lock, Black 1 1
12 1026103 Washer, Nylon (1/4 x 1/2 x 1/32") 1 6
13 1024961-NLA | NLA - Shoe, Wheel Lock 1 1
14 1025728 Washer (1/4 x 1/2 x 1/32") 1 2
15 1059284-NLA | NLA - Screw, Socket Button Head (1/4-28 x 1-1/4") 1 2
16 A 1036647-NLA | NLA - Wheel Lock, Undermount - Right 1 1
16 A 1036648-NLA | NLA - Wheel Lock, Undermount - Left 1 1
17 B 1039344 Kit, Wheel Lock Attaching Hardware (1" tubing) 1 1
NLA - Clamp, Wheel Lock, Threaded (1") 1 2
NLA - Clamp, Wheel Lock, Non-Threaded (1") 1 2
Screw, Allen Head (1/4-20 x 1") 1 4

NOTE: A -Includes ltems 4 - 15.
B - Includes items 1 - 3.




